1000/0 2do)/d(m_1 + m_2) [1/GeV]

Ratio to CMS

1071

[EEY

0.5

7000 GeV pp Jets
L DL L L L L L L L U L B B = B
_ : . — 3
= Filtered dijet mass (anti-k_(0.7), 2500<p_<600, |y|<2.5) =3
- 1=
= =N
= Hm
= N
E— o
= =k
~ ks
_ o
= =Ra)
= 4.2
- =~
= =)

1 (Y)
= o =<
EQ =
= Ll
= —150
= = <
= 9=
__ X
= m CMS " 5=
L 8- Herwig 7.2.1 default _;g
= —&— Pythia 8.308 default Eg
[ 1o
= 50
~ = oy
= e e e =
= T E

1
| —0.5

T T T IO T R T S EN T T S TR EN TR T ST T N [ T R

0 50 100 15

(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


